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Mot

HE: HYSYBH (M)
chelr D123l
SA BB O () - MM - HES il
— S20Adl 7,000& x13H 20! 1,820
OSAI Y Xt 3,984
— LEtS ALD] 132,000 x 1+ 12& 1,584
— DEZCF A 200,000 x1CH+128 2,400
O& ==L xt 55,000& x1CH*12& 660
02 2=2Z 4l 19,863 19,863
ORER= 150,000& 12& 1,800
OJIEtEE2R3 6,888
—dIRea3 5,448
& A 400,000& 123 4,800
=&KX 4,000 3 600 &~ +128 288
=" dH 30,000& x12& 360
—A2YANEE 22 222 (USHEHMEH)
120,000& 123 1,440
ostge=g3 146
—ANEE 48,0003 *23| 96
— Xt+g 25,000 »1CH 23] 50
Ozl 6,849
— ARA 1,300& *1.74 *BAlI 2t*3CH 100 5,304
— =34 1,300& *4.954 *8A| 2tx30 1,545
Oxts R zel 4,150
—283=(ER) 3,450,000 *1CH 3,450
—-BER(XNY ¥ AHQEHO0 )
350,000& »2CH 700
OXsSXtA(st8) 30,0003 = 1CH 30
202 4 HI 45,500 45,500
01 =2 LHO YI 45,500 45,500
O2U A bl 250,000& *13H x12& 39,000
O 22 ¢ di 50,0003 x13 10 6,500
203 PR =&l 9,790 10,120
01 J22F PR =8| 6,270 6,600
O 6,600,000 x95% 6,270
02 AP R =AY 520 520
OF A Otetd 2= &d| 40,0003 x13H 520
04 EMNSSIHRF=EHI 3,000 3,000
ORA2EIRFAH| 250,000& »12& 3,000




